


Question 1- 𝑥2-15𝑥 + 56 = 0

𝑦2- 5𝑦 -14 = 0

A. 𝑥 > 𝑦
B. 𝑥 < 𝑦
C. 𝑥 ≤ 𝑦
D. 𝑥 ≥ 𝑦
E. 𝑥= 𝑦 or relation cant be established

https://t.me/Mathbytarunsir



Question 2- 4𝑥2 +16𝑥 + 15 = 0

2𝑦2 + 7𝑦 +3 = 0

A. 𝑥 > 𝑦
B. 𝑥 < 𝑦
C. 𝑥 ≤ 𝑦
D. 𝑥= 𝑦 or relation cant be established

E. 𝑥 ≥ 𝑦
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Question 3 - Ratio of difference between the ages of A and B

and sum of ages of A and B is 3 : 10.If the difference of the 

age of A and B is 24 years, then find the age of A.

प्रश्न 3 - A और B की आय ुके बीच अंतर और A और B की आय ुके योग

का अनपुात 3 : 10 ह।ै यदि A और B की आय ुका अंतर 24 वर्ष ह,ै तो A की 

आय ुज्ञात कीदिये।

A.62 years

B. 52 years

C. 40nyears

D.90 years

E. None of these
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Question 4 – A person has Rs. 8000. He gives this  to B on 

simple interest and after 5 years received the double 

amount. If the interest rate is 5% more than the previous, in 

how many years this amount will be doubled?

प्रश्न 4 – एक व्यदि के पास 8000 रुपये हैं। वह इसे सााार  ्याि पर B 

को ितेा ह ैऔर 5 वर्ों के बाि उसे िोगनुी रादि प्राप्त होती ह।ै यदि ्याि 

िर पहले की तलुना में 5% अदाक ह,ै तो दकतने वर्ों में यह रादि िोगनुी

हो िाएगी? A.3 years

B. 5 years

C. 4 years

D.8 years

E. None of these
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Question 5 - 𝑝3 = 𝑞 + 239

𝑞2 + 46 𝑞 + 529 = 0

A. p> 𝑞
B. p< 𝑞
C. p≤ 𝑞
D. p≥ 𝑞
E. 𝑝= 𝑞 or relation cant be established
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Question 6 - 25% of 840 + 16% of 625 – 22% of 660 = ?

प्रश्न 6 - 840 का 25% + 625 का 16% – 660 का 22% = ?

A.137.5

B. 237.4

C. 233.4

D.231.6

E. None of these

https://t.me/Mathbytarunsir



Question 7 - Three pipes P, Q and R can fill a tank in 6 hours 

together. All three pipes are opened for 2 hours , and then pipe R is 

closed. The remaining part of the tank is filled by pipes P and Q in 7 

hours. How much time will pipe R take to fill the empty tank alone

प्रश्न 7- तीन पाइप P, Q और R एक टंकी को एक साथ 6 घटें में भर सकते हैं। सभी 

तीन पाइपों को 2 घटें के दलए खोला िाता ह,ै और दिर पाइप R को बंि कर दिया 

िाता ह।ै टंकी के िेर् भाग को पाइप P और Q द्वारा 7 घटें में भरा िाता ह।ै पाइप R 

को खाली टंकी को अकेले भरने में दकतना समय लगेगा?
A. 10 H

B. 14 H

C. 22 H

D. 30 H

E. None of these
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Question 8- 45987 + 13786 + 12432 + 16781 = ?

A.88886

B. 33786

C. 88985

D.88986

E. None of these
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Question 9- A and B can do a work in 6 days. Q and R can do the 

same work in 60/7 days. A start the work and work for 3 days then 

remaining work done by B and C in 6 days. In how much time A 

alone can do the same work. 

प्रश्न 9- A और B एक कायष को 6 दिनों में कर सकते हैं। Q और R उसी कायष को 

60/7 दिनों में कर सकते हैं। A कायष िरुू करता ह ैऔर 3 दिनों के दलए कायष करता ह ै

दिर B और C द्वारा िेर् कायष को 6 दिनों में परूा दकया िाता ह।ै A अकेले उसी काम 

को कर सकता ह।ै

A.10 days

B. 20 days

C. 30 days

D.12 days

E. None of these
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Question 10-
1

17
× 11900 + 35% of 850 = ? – 34% of 5500

A.1867.5

B. 2867.5

C. 1235.6

D.2134.5

E. None of these
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Question 11- A train of length 210m takes 1/5 min to cross another 

train 270 m long coming from the opposite direction. If the speed of 

the first train is y km/hr and the speed of the second train is (y +12) 

km/hr, then, find the value of y

प्रश्न 11- 210 मीटर लंबी एक टे्रन दवपरीत दििा से आ रही 270 मीटर लंबी िसूरी 

टे्रन को पार करने में 1/5 दमनट का समय लेती ह।ै यदि पहली टे्रन की गदत y 

दकमी/घटंा ह ैऔर िसूरी टे्रन की गदत (y + 12) दकमी/घटंा ह,ै तो y का मान ज्ञात 

कीदिये
A. 96

B. 76

C. 66

D. 86

E. None of these
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Question 12- 64% of 725 + 125% of 4000 + 80% of 500 = ?

प्रश्न 12- 725 का 64% + 4000 का 125% + 500 का 80% = ?

A.5873

B. 5892

C. 5864

D.6654

E. None of these

https://t.me/Mathbytarunsir



Question 13- 115÷5 × 70 – 500 + 20% of 160 = ?

प्रश्न 13- 115÷5 × 70 – 500 + 160 का 20% = ?

A.1122

B. 1132

C. 1144

D.1142

E. None of these

https://t.me/Mathbytarunsir



Question 14- In a library number of novel are 80 more than the 

number of story book, in total number of novel 30% are old and in 

story book 35% are old and rest are new. If the number of stories 

book is 15 less than the number of novel. Find total number of 

books.

प्रश्न 14 - एक पसु्तकालय में उपन्यासों की संख्या कहानी की पसु्तक की संख्या से 80 

अदाक ह,ै उपन्यास की कुल संख्या में 30% परुाने हैं और कहादनयों की पसु्तक में 

35% परुाने हैं और िेर् नए हैं। यदि कहादनयों की पसु्तक की संख्या उपन्यास की 

संख्या से 15 कम ह।ै पसु्तकों की कुल संख्या ज्ञात कीदिये।

A. 240

B. 440

C. 120

D. 130

E. None of these
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